N = 0l & At & M A

2AM:
4

X{ XH -
S =

SR AEHE L HEY EERED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
S22 26,861,500 15,565,600 11,295,900
= 498,000
s 10,000
= 421,700
Al 25,931,800
CE2EHAMNY &5 13,101,900 13,688,000 A 586,100
= 498,000
s 10,000
< 421,700
Al 12,172,200
ANENE & 2 F 3,875,100 3,990, 100 A 115,000
= 450,000
< 140,100
Al 3,285,000
ANge S2FH HE(RSEEAH(EXR) 5,100 5,100 0
< 5,100
101 1A bl 5,100 5,100 0
< 5,100
04 JIZHHNZ2Z2XNSE+ 5,100 5,100 0
NEE NESH A 5,100
= 5,100
NE55 (0] AF~F4F) AFDQE 22 S 540,000 0 540,000
401 Al HI K 2018 540,000 0 540,000
01 A& HI 536,112 0 536,112
ANE5S (FA~DIA)A D P2 SN 536,112
03 A& =2 I 3,888 0 3,888
NE5S (FA~OI M)A DS A2 SN 3,888
ANEZ9S (HEIC~oitE2) & - XX 1,500,000 2,000,000 500,000
401 AIEHI L 2 CHEI 1,500,000 2,000,000 A 500,000
01 A& Bl 1,494,600 1,995,400 500,800
NE9S (A IC~HtER) & - TH(AHHH!) 1,494,600
03 Al 2 THHI 5,400 4,600 800
NEZ9S(UHHIC~HtE=2) & - ZLE(AHHH]) 5,400
ANEZ9S (Hotc2~ AL EM) AL (MRS XA 900,000 0 900,000
Hdl-ug)
= 450,000
S 135,000
Al 315,000
401 Al HIZ 201 I 900,000 0 900,000
= 450,000
< 135,000
Al 315,000
01 A& HI 900,000 0 900,000
NE9S (ot 2~-UHAY M) A4 900,000




2N
M T2HHIAY =F
Sl NEHE Y HEE (e
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
= 450,000
< 135,000
Al 315,000
IE215(Eex2) &2 2 & 100,000 0 100,000
401 Al HI R 201 I 100,000 0 100,000
01 A& HI 99,100 0 99,100
NE21S(Hdx A)e2 S 99,100
03 Al =2 THHI 900 0 900
NE215 (88 x 22 S H 900
&g =HE=Z FUALY 600,000 245,000 355,000
401 AIEHI L 20 600,000 245,000 355,000
01 A& Bl 600,000 243,236 356,764
g =8HEZ HUIALZ 600,000
NEES(HESH ) T2 SE8NE 180,000 0 180,000
401 Al HI K 201 I 180,000 0 180,000
01 A& HI 180,000 0 180,000
NE6S (HEZSH )2 HEMSE 180,000
nEAtD IEE2 Mo 50,000 0 50,000
401 Al HIZ 201 Y] 50,000 0 50,000
01 A& HI 50,000 0 50,000
WSAMD AEE2 M 50,000
SHE TR 2 2HEE 5,560,000 4,207,000 1,353,000
< 150,000
Al 5,410,000
HIZ0IS(48d) sHEEZR X F 400,000 0 400,000
401 A& HIZ 201 8] 400,000 0 400,000
01 A& HI 397,480 0 397,480
EZ01S(4sd)sHEEZ &2 397,480
03 Al 2 THHI 2,520 0 2,520
g0 (4SS )sHEER XL F 2,520
FU29S (OFF ) s0HESZ X E 800,000 250,000 550,000
401 A& HIZ 201 I 800,000 250,000 550,000
01 Al&H 794,960 248,200 546,760
FM2095 (OFFH ) sHEER X E 794,960
03 Al 2 THHI 5,040 1,800 3,240
FH209S (OFFH ) sHEERE X E 5,040
23032 (M) sHEER X FE 750,000 350,000 400,000
401 Al HI K 201 I 750,000 350,000 400,000
01 A& HI 745,275 347,480 397,795
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SA - ZE-B(EN) - NRAY - B S il &t o il RS2
2303 (MM ) sHEER &2 F 745,275
03 Al S HHI 4,725 2,520 2,205
H2303S (MM ) sHEER X F 4,725
FW2S(2UH) sHEEZ &2 250,000 0 250,000
401 Al& I & 2 08I 250,000 0 250,000
01 A& Bl 248,200 0 248,200
WS (2UH ) sHEEz #XE 248,200
03 Al S THHI 1,800 0 1,800
TS (EUHE)sHEEZ &2 F 1,800
SHI01S(2EH) sHEER &1 % 50,000 0 50,000
401 AIEHI L 20 50,000 0 50,000
01 A& HI 49,460 0 49,460
EdN0IS (2 s )sHEEZ &2 F 49,460
03 AIE 2 THHI 540 0 540
21015 (2SS )sHELRE &2 F 540
FH4S(HEH) sHEZRE - ZF 500,000 0 500,000
401 Al Bl 28I 500,000 0 500,000
01 A& HI 496,400 0 496,400
FHAS(HEH ) sHEERE X E 496,400
03 Al =2 0HHI 3,600 0 3,600
FHAS(HEH ) s0HEERE X E 3,600
H22063(3stE) sHEEZZE HIEZE 680,000 250,000 430,000
401 Al& I 28I 680,000 250,000 430,000
01 A& HI 675,716 248,200 427,516
22065 (38H) sHEEZ &2 675,716
03 Al S THHI 4,284 1,800 2,484
H22065(3sd) sHEZZE 2 4,284
X235 (2sH) sHEEZNE 800,000 0 800,000
401 Al HI & 28I 800,000 0 800,000
01 A& HI 794,960 0 794,960
2135 (2sd)sHELZ #2 794,960
03 A& =TI 5,040 0 5,040
gZ2135(Hsd)sHELZ &2 5,040
D &t2045 (ASH) sHEEZZ SEHE 50,000 25,000 25,000
401 AIEBIZ 2018 50,000 25,000 25,000
01 A& tl 49,460 25,000 24,460
0142045 (ASH )sHEZZ &2 49,460
03 Al 2 THHI 540 0 540
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el S0lE TRME U BEE CERED
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
02045 (ASH)SHEEZSZ S ELH 540
QENIS(AWN) sSHEEZ SZE 400,000 350,000 50,000
401 AlEHIZL £ 0HY| 400,000 350,000 50,000
01 Al&H| 397,120 347,480 49,640
QEM0IS(AWNH)sSHEER SELH 397,120
03 Al 201 Y| 2,880 2,520 360
QA0S (AWH)SHEER S 2,880
QEUS (=DM )sHEER S$ZE 100,000 150,000 A 50,000
401 AlEHIZL 2 0HY| 100,000 150,000 A 50,000
01 Al&H| 99,100 148,920 N 49,820
QA4S (FDH)sSHEER &L H 99,100
03 Al E2HH] 900 1,080 A 180
QE0US (=DM )=HEER S H 900
HA206S (MAM)sHEERZ S (XAAMR) 250,000 0 250,000
401 AlEHIZL 201 Y| 250,000 0 250,000
01 Al&H| 248,200 0 248,200
HA206S (AN H)SHEEZ S ETH 248,200
03 AlE 21| 1,800 0 1,800
HA2006S (MMM )sHEER ST E 1,800
HANIS(AHE)sHEER SN 150,000 0 150,000
401 Al HI L 2 0HHI 150,000 0 150,000
01 Al& H| 148,920 0 148,920
HANIS(AME)=sHEER S 148,920
03 AlE 21| 1,080 0 1,080
HANIS(AME)sHEER SN 1,080
FWN1S(AANE)=HEEZ 3T H 50,000 0 50,000
401 Al HI L £ 0HHI 50,000 0 50,000
01 Al&EH| 50,000 0 50,000
FP2IS (AN H)sHEER S 50,000
S0 (BLH)sHEZZE SHELH 30,000 0 30,000
401 Al HI L 2 0HHI 30,000 0 30,000
01 Al&H| 30,000 0 30,000
SH206S (BELEH)sHEEZ ST H 30,000
A AZADE WEAMDAE HHEZAHER) 300,000 0 300,000
== 150,000
Al 150,000
401 AlEHIZL 2 0HY| 300,000 0 300,000
= 150,000
Al 150,000




2N

T2
M T2HHIAY =F
Sl S0E CRMA U HEF (S &2)
= - — SHE]|
SN HH-S(BN) - MBAY - B Ol &k o8 il HlnE2
01 A& HI 300,000 0 300,000
FA A3 He DSADRAE M B A 300,000
= 150,000
Al 150,000
028Xl s EXN 24 83,000 0 83,000
X=X 24 83,000 0 83,000
5 a2 S 83,000 0 83,000
01 tH& 23S 83,000 0 83,000
OX=2X 24 83,000
SERAN B+ L 22| 3,373,800 4,720,900 A 1,347,100
= 48,000
s 10,000
< 131,600
Al 3,184,200
TERANES A 1,620,000 2,308,000 A 688,000
101 @14l 56,000 50,000 6,000
M4 JI2ZHZEXNSES 56,000 50,000 6,000
sSHEEZZ =&Y 22y 56,000
201 £B-2d| 119,000 119,000 0
01 At 22l 47,000 47,000 0
S2RANES =ZH| 15,000
=SR2 M 88 5 30,000
SCelHYd ¢ 100,000%5H *43| 2,000
02 23224l 72,000 72,000 0
CEERANE=TE HZH| 32,000
S2RANES AEEH S bl 40,000
206 TH 2 Hl 30,000 30,000 0
01 T2l 30,000 30,000 0
Szl Mzl 30,000
401 A& BIZ 201 8I 1,380,000 2,079,000 A 699,000
01 Al tl 1,377,120 2,075,076 A 697,956
CEANEE B & X0t Y, 5L 22H)
50,000
S22 H=xE & EF=2HMHA 10,000
C2EF & 2 F| 50,000
HEENNE A 2 B 50,000
=, doHE EAEY 10,000
ANENS(FEet) OtAZHM 2] 148,920
FA206E OLAZ ST M 2T 70,000
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2N
X ZH -
L= B

el

S22
C2EHIMY &=
SR B ¢ 2e|

SA B ER(EN) - AR - BES of & o4 San HIDZ2
201 fEt2E | 122,700 121,900 800
01 At 2t 2l bl 122,700 121,900 800

S8 HE) 2RI (EH) gz
100,000 =320 16 L 51,200
HMAX(158) dxts 7,500,000 «3CH 32 67,500
CE2HE Hd22 sS4l 4,000
206 M =24l 90,000 90,000 0
01 = dl 90,000 90,000 0
MEXRH(ded, Satzs, 2d) 50,000
SHS 28 AZE M & XM (25kg) 30,000
Zed HAT A (30,0000 ) 10,000
405 At&tF S HI 4,500 0 4,500
01 ML ESFH=H 4,500 0 4,500
BHE T2HMEE 24 ED) 4,500
DY S4 200,000 50,000 150,000
401 AIEHI L 2 CHYI 200,000 50,000 150,000
01 Al&HI 198,920 50,000 148,920
w2 50,000
=20, dF3n B2 148,920
03 Al 2 CHHI 1,080 0 1,080
Fon, dF3u B2 1,080
ANUEZ o1& FH] 370,000 180,000 190,000
401 Al HI L 2 THHI 370,000 180,000 190,000
01 Al&HI 368,740 180,000 188,740
SAS A =HH 69,370
&8s (Al2tel AgE6105) 1= FH| 35,000
&3228 AE(E3-11) R 2R (F2-2)XLZ 20,000
H&238 =2 (A2-136)FHl & AL (S

L 15,000
g3 AZ1-1s(tHEel) d=FHYl 50,000
StoiE 2 =3 20,000
ANE9& (&8 A& R 69,370
NE3E(Za) Q&R 90,000

03 Al€ F i bl 1,260 0 1,260
S el =FHH 630
NE95 (&8 &R 630

SRRNEL AY(EX) 220,000 1,429,000 A 1,209,000
S 110,000
Al 110,000

401 Al HIZ R0 8] 220,000 1,429,000 A 1,209,000
= 110,000
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X ZH
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T2

SR B ¢ 2e|

- _ _ RE]
SA - H .G (3AH) - MBAY - BES %Eﬁ HR=2
Al 110,000
01 Al&H| 220,000 1,420,900 A 1,200,900
ZH2E QT OIAE2 LA ZA} 100,000
= 50,000
Al 50,000
(HAEIbE ES 2 ELZ2A 120,000
& 60,000
Al 60,000
MAEAHE DXZ2IHA 150,000 0 150,000
401 AlEHI 2L 2 0HY| 150,000 0 150,000
01 Al&H| 150,000 0 150,000
AMAEAHC DXZ A 150,000
20228 ol dHeERlE s 23| 50,000 0 50,000
401 AlEHIZL £ 0HY| 50,000 0 50,000
01 Al&H| 50,000 0 50,000
2022 BEEMAMHE &3 T2 HH| IS Ak 10,000
(HEN ==& T2 AIE=HH| 20,000
oot A& HEZ2AH| 20,000
MEUXXRMEH L S222HEH AEZ2A 120,000 0 120,000
= 48,000
= 21,600
Al 50,400
401 Al HI L £ 0HHI 120,000 0 120,000
= 48,000
& 21,600
Al 50,400
01 Al& b 120,000 0 120,000
MASEHIXNSHEH L 22 dH 120,000
= 48,000
= 21,600
Al 50,400
C2EE Fg2AA A 2=z24H 88,000 0 88,000
207 SO0 | 88,000 0 88,000
02 & A H| 88,000 0 88,000
C2EE FEACAAEY =E2A 88,000
c2dH 28 HEX= M 29 30,600 0 30,600
101 Q124 H] 30,600 0 30,600
04 JI2ZtHIZ2 2 NEE S 30,600 0 30,600
CE2H 2Y HXS oM™ 89 30,600
SIMUIIZ(EX) 20,000 0 20,000
Fag 10,000
Al 10,000
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P EZ2EHAMY 2E
|

P EERN B 2 2e

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
401 Al HIZ 201 Y| 20,000 20,000
s 10,000
Al 10,000
01 A& HI 20,000 20,000
SHH X2 AX 20,000
s 10,000
Al 10,000
DAEE=2 oY Zl 160,000 A 60,000
wgEdEY otMmH 160,000 A 60,000
401 Al HIZ 201 I 160,000 A 60,000
01 A& HI 160,000 260,000
S ZYUCLMACH 50,000
ANSE1.28AE= &) 183 55,000
ANSHE3IEALS &8I FIIEE 55,000
THEAZZ e & 0ISAE &5 50,000 A 50,000
HEA ClZet A5 50,000 A 50,000
401 A& HIZ 201 Y] 50,000 A50,000
01 A& HI 50,000 A 50,000
HENEZ 2 & HMEAIE=SEHI 50,000
SAIONE 13,695,000 11,885,000
SAAHEEZ A 13,695,000 11,885,000
HES-SEs2 S2IME S AH(HSHI) 4,000,000 4,000,000
401 Al HIZ 2018 4,000,000 4,000,000
01 A& HI 3,990,000 3,990,000
HEs~-S8sd S2IHESA 3,990,000
03 Al 2 THHI 10,000 10,000
s~ T2IHESAM 10,000
DA ~2E3sd TAHEZZIHE (A SH]) 3,000,000 3,000,000
401 A& HIZ 201 Y] 3,000,000 3,000,000
01 A& HI 2,997,000 2,997,000
HEDL~IAE36SHE TAHEEZ 2,997,000
03 Al S THHI 3,000 3,000
HEDZL~IE36sH TAHEEZ 3,000
HE~AH2H(UHZ3-7) SAHEZZHA (A=) 2,000,000 2,000,000
401 AIEHI L 201 2,000,000 2,000,000
01 A& Hl 1,995,000 1,995,000
HE~AHH(UHRI-7)TAIHE =200 S 1,995,000
03 A& S THHI 5,000 5,000
HE~AHH(UHR3-7)TAIHEZ2HE 5,000
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P EANAEEZONE

SA - BB B () - MM - BES Ol &t o San HmEET
ZE3S(22-109) SAIHEEZ20HH 600,000 600,000
401 Al HI K 201 I 600,000 600,000
01 A& Bl 596,220 596,220
2 E3S(22-109) SAHEEZ 596,220
03 A& S THHI 3,780 3,780
2 E3S(22-109) SAHEEZ 3,780
SHES ARl (L2-68) TAIHEZZHE 220,000 220,000
401 AIEHI L 2] 220,000 220,000
01 A& HI 218,416 218,416
SH &2l (£L2-68) TAIHEZZHA 218,416
03 Al 2 THHI 1,584 1,584
23 =92l (A2-68) SAIHE=ZHA 1,584
as~-=8s2 T2HE 2 224 SgZelsd 700,000 700,000
401 A& HIZ 201 8] 700,000 700,000
02 2feltl 700,000 700,000
s~ T2HE 2 224 S22 700,000
H&E14S(23-223) A HE =20 300,000 300,000
401 AIEHI L 2] 300,000 300,000
01 A& HI 298,000 298,000
& 148 (£3-223) TAIHE =24 298,000
03 Al 2 THHI 2,000 2,000
H&E148(23-223) SAIHE =204 2,000
SHIBS (A2-7)TANAHE 2L 500,000 500,000
401 AIEHI L 20 500,000 500,000
01 A& HI 498,000 498,000
SH18S (A2-7) TAHEECZHE 498,000
03 AIE 20 HI 2,000 2,000
SUHI18E(L2-7) SAHEEZZ2MA 2,000
0TS AU TAHEEZ W4 1,100,000 1,100,000
401 A& HIZ 2018 1,100,000 1,100,000
01 A& HI 1,096,040 1,096,040
FIN0IEY S TAHEZZIHE 1,096,040
03 Al 2 THHI 3,960 3,960
FI0IEY ASUa ZAHEEZ2HE 3,960
ZH7S(53-16) TAHETZ FHUlALY 200,000 200,000
402 2I2H X201 M 100,000 100,000
03 212t &AL S HI 100,000 100,000




SH: 2
MM CTAMNY

S TAANEEZIE (&)
SA - BB B () - MM - BES Ol &t o San HmEET
SH7E(£3-16) TAlHE =2 FH|
(SUANEX =5 100,000
403 UtXSHHSA=0l& 100,000 0 100,000
02 SO 2SOICHsH A2 X 2 A I 100,000 0 100,000
SH7ES(E3-16) TAlHE =2 FH|
(8 H=X=3t) 100,000
SUHFREHXR(S, 4722) olHEz & - 2 F 700,000 0 700,000
401 AIEHI L 201 700,000 0 700,000
1T AIZHI 697,000 0 697,000
SUHREFXRA(3, 4722H) 0lHE=Z HEEFE 697,000
03 A& S THHI 3,000 0 3,000
SUHPEHXRA(E, 4722 oz &2 F 3,000
HEBES(SROME) S2ME 300,000 0 300,000
401 AIEHI L 2 CHYI 300,000 0 300,000
01 A& HI 298,000 0 298,000
HE25S(SROME) T 2HE 298,000
03 Al 2 THHI 2,000 0 2,000
HE2BE(SROHME) E2H4 2,000
S8 (22-72) TAHEZZ2HE 40,000 0 40,000
401 Al BIZ 201 8] 40,000 0 40,000
01 A& HI 40,000 0 40,000
sH2E(L2-72) SAHEZZ2MHE 40,000
S& AL (A2-51) TAIHEEZZ0HM 10,000 0 10,000
401 AIEHI L 20 10,000 0 10,000
01 A& HI 10,000 0 10,000
2& UEs2l(A2-51) SAHE 2L 10,000
HE198(23-73) TAIHE =2 25,000 0 25,000
401 AIEHI L 20HEI 25,000 0 25,000
A& HI 25,000 0 25,000
HE198(43-73) TAHEZZHA 25,000
HF2F A 64,600 67,600 A 3,000
JlE &l 64,600 67,600 A 3,000
JlE&l 64,600 67,600 A 3,000
201 £B-2dH| 43,800 42,800 1,000
01 At 22/l 29,800 28,800 1,000
L Et=ZH| 25,000
= gl 400,000& 123 4,800
02 =224l 14,000 14,000 0
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